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ions Nol and13 are very short-answer questions carryihgnark for
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Questions Na&-5and14-17are short-answer questions carryi@gnarks each.
Answers to them should normally not excé@davords each.

(v) Questions N®@-9and18 -21are also short-answer questions carryéhgarks
each. Answers to them should normally not ex@@adords each.
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(vi) Questions Nol10-12and 22-24are long-answer questions carryiggmarks
each. Answers to them should normally not exd@&dwords each.

(vii) Answers should be brief and to the point and the above word limits should be
adhered to as far as possible.

(viii) All parts of a question should be answered at one place.
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Section A
qgus

r the following questions :

Why does an economic problem arise ?

(i) Define opportunity cost.

(ii)  What does a rightward shift of production possibility curve indicate ?

(iv) Define microeconomics. 1x4
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frfafag uedt & sw g -

() onfded FgEm = SO e ' O?

() SR @r @ gRwmr R

(i) SART W9EET 9 BT Sl SR Raweer Fm Sgfr ®e
(v) =fte sreforex @1 g difoa)

good. 3

2. Explain the effect of increase in income of the consumer :CBQand for a

SUHIRTT bl AT H glg & a&] bl WT W gWET T |

3. State three causes of increase in supply. () 3
i ¥ gfg & 9 HRO FAEU| @'

4. Explain the relation between margifal cost and average cost. 3
E51621 G ) o | O S G ) e qHEATET |
5. Explain produc:;@ll rium with the help of a diagram. 3
Tk @I IEH & GJAT bl ARAT HINT |
L 4

didates only in lieu of Q. No. 5
qiemiRiat & fou yew den 5% wuH W

xplain the meaning and conditions of producer’s equilibrium.

TH TARE & qad B oA IR TEH 9 qHEE |
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6. A consumer buys 40 units of a good at a price of Rs. 3 per unit. When price
rises to Rs. 4 per unit he buys 30 units. Calculate price elasticity of demand
by the total expenditure method. 4
OR
A consumer buys 80 units of a good at a price of Rs. 5 per unit. Suppose price
elasticity of demand is (-)2. At what price will he buy 64 units ?

UH SUNERT UH A& B 3 6. U IHEE W 40 THEEA @led g1 9
YT I¢ R 4 5. U IHE B AT & o 98 30 TREA @Al §

fafr g A @ Fwa @ B uREeT Hi | ()
A4
TH STHRE 5 5. Ui IEE W UH a & 80 ISl # W
fF mim & Pwa @ ()2 A FHT W T ?
7. Give meaning of:
()  production function %
(i)  Supply &
(i) revenue, and
(iv) cost 4
(i) SaET wed @
(i) i +
(iii) |uf, SR
(iv) <

& e

a #m whose fixed costs are Rs. 10. 4
Output (units) : 1 2 3 4
Marginal cost (Rs.) : 6 5 4 6
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o
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9.  Atagiven price there is excess demand for a good. Explain ho jlibrium
price will be reached. Use diagram. 4

@aﬁﬁﬁgmwa@ww%lwmﬁwﬁﬁwl

W & YA A | @ .
For Blind Candidates only in lieu of Q. No.é O

Faa gedq qdeRiy & oo uew QT@T§ W
What is meant by ‘excess degilan® for‘a good ? Explain the changes which

will bring about equilibrium gsice®

Uk R B A WU g7 I URAdHl H AWAT T A

10. twee
2

in demand’ and ‘change in quantity demanded’ 6
i

AT SR TR AT

AT § gRadr SR Wi @ " aRade

11. State the phases of the law of variable proportions in terms of total physical
product. Use diagram. 6
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For Blind Candidates only in lieu of Q. No. 11
had ghedq qdemifal & fou uw d=n 113 ®=N ®

State the phases of the law of variable proportions in terms p ysical

product and marginal physical product.

FA Afdd SAE SR TG e SR I & ®9 H & fad

% fafv=r =or @)
12. Explain the following features of perfect Q : 6
() Large number of buyers and selﬁ

(i) Homogeneous products

Explain the following : @
(i) ‘Free entry and exif\feattire of perfect competition,

(i) wof sfqdifar & fTrafa gag &R e )
(i) umopres giEifar & Sae fJag faeme |
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Section B
gus §

13. Answer the following questions :
(i) Define macroeconomics.
(i) Give two examples of macroeconomic studies.

(i) What does balance of payments account of a country re :
(iv) Name the items included in balance of trade accoun()

ffafad g9l & I AN .
(i) wufte sefsmer & 9Rvmen R ()@
(i) wmfe onfde otemaei & @ @I

(i) ™ 3w & Yo° aged @ o TSt I
(iv) =R 9w @ § fHa @l [ & M Faey |

14. Calculate ‘private inco % following data :
(Rs. crores)
(i) National de@ t 30

(i) Gross nationgl product at market price 400

transfers from government 20
et indirect taxes 40
Net current transfers from the rest of the world (-) 10
(vi) Net domestic product at factor cost accruing to government

(vii) Consumption of fixed capital 70
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=T ofiRst & 9ol @ @1 qRebeld hioia:

@0z )
() T ®=T W AN 30
(i) 9N g8 W dhd TLEE IR 400
(i) TFR ¥ YR ewiwT 20

(iv) ™aa uTs &

V) P & FEw ohe e Q
(Vi) TR & 9 FING ara W HEa defim S O
70

(i) e (Rem) oot &1 sr@erm (Suw)

¢

15. A Rs. 200 crore increase in investment Ieads@ise In national income by
Rs. 1000 crores. Find out marginal prope nsume. 3

fag & 200 & 5 # gfg F TE 'a:ﬁgaa?rq@‘sﬁ'cﬁﬁl
qHid IUHNT Ygia S I

16. Give meanings of : 3
()  involuntary unempl y@
(i)  full employm +
(ii) under empl® equilibrium

17. Give three sources each of demand and supply of foreign exchange. 3

gt wEm A W R o # dRdm Ee mE
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18.

19.

20.

21.

22.

Give meaning of money. Explain the ‘store of value’ function of money.
OR

What is ‘barter’? Explain ‘standard of deferred payment’ function of
money.

9T B A qART| GET W A §9d HE GEEEU |
Jgar

Explain the’acceptance of deposits’function of commercia@. 4
T bl HT SHG HHR H BT R FHART | @Q

Distinguish between ‘revenue receipt’ and, receipt’ and give two
examples of each. 4
RUE S T el 1 R M 3T g% & aI-ar IareTT
T |

What is ‘fiscal deficit’ ? Wiia implications ? 4
TABYG-ART T Bl \ gaE B 87

Calculate natlon me and gross national disposable income from the

following datas
(Rs. crores)

ent transfers by government 15

rivate final consumption expenditure 400

Net current transfers from the rest of the world 20
(iv) Government final consumption expenditure 100
(v) Net factor income from abroad (-) 10
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23.

58/1/1

(vi) Net domestic capital formation
(vii) Consumption of fixed capital
(viii) Net exports

(ix) Netindirect taxes

frfafad ofidsl & TSEE o IR Oha TS Y4 3T &l

() ¥ER E G e

(i) Fofit sfm sodm =g @ ¢
(i) 9w fwg F g sEEw ()

(iv) "l sifow SudrT = %

(V) faeai & fHad #re o &

(vi) frae 2o e ﬁﬂﬁw

(Vi) e

b Q,+

(ix) e

OR

the income method of estimating national income.

T Y & IARA fafr 99smsu |
TEr
T T 99 & g fafer 9wy

10

roduction method of estimating national income.

80
50
40

60

15
400
20
100
(-) 10
80
50
40

60



24.

Explain the problem of ‘excess demand’ in an economy with the dfetp
diagram. Explain the role of bank rate in cprrecting it. 6

WIS & Gedar 9§ orefegaen H g MRy @l HEm ARl hifd |
TH IE B W AR W A R GESEY

For Blind Candidates only in lieu of Q. No. 24

Faa gied qheidt & oo uer den 24 % W W O

Explain the meaning of’excess demand’ and ‘deficient dem@ an economy.
Explain therole of bank rate in correcting excess d de

ST T 3
(%
@\~

58/1/1 11





